™
§ BRAVO
2-STATION HANDWASH SINK
Heated Sink Specifications
BorvIonn® and Information
SPECIFICATIONS
Dimension mperial Metric
Height 62in 157 cm
Width 26.5in 67 cm
Depth 21.5in 54 cm
Fresh Water 22 gal 83L
Capacity
(Ciray Water 24 gal 91L
apacity
Pump Capacity 2floz 59.1 ml
(per stroke)
Number of Single 1408 1408
Dispenses
Weight Empty 701b 32kg
Weight Full 254 1b 115.2 kg
Power Requirements 110v/15A NA

Paper Towel Dispenser

Soap Dispensers
Capacity
Total Capacity

30flo
60flo

Four packs of single-fold towels (Georgia Pacific 23504)
250 towels per pack. 1000 per wash station.

74 887 ml
Z 1774 ml

The BRA1-2000 Heated Bravo sink is a self contained portable sink that provides warm

water hand wash. The sink is heated with a thermostatically controlled electric cal-rod
type heater. The heater heats up the entire fresh water tank, and maintains a nominal

water temperature of 110 decrees Fahrenheit. The heating system incorporates a float
switch that shuts power off to the heating element in the case of a low water situation.
Because the whole fresh water tank is heated, the sink is protected from freezing down
to 10 degrees Fahrenheit. The system must be plugged into a GFCl protected circuit to

comply with electrical code.



PC-000226 - Top of Latch w/Catch S.S. Draw

(2) PC-000110 - Rivet
(2) PC-000111 - Washer
BRA1-0021
[asc)

Dispenser Mount Plate

BRA1-0007 - Paper Towel
Dispenser Complete

Lid Fasteners:

(2) PC-000104 - Rivet

(2) PC-000106 - Washer

Tray Fasteners:

(4) PC-000105 - Rivet

(2) LS04-0001 -
Soap Dispenser

(2) LS04-0002 - Cover
(2) LS04-0003 - Backplate
(3) PC-000104 - Rivet
(3) PC-000106 - Washer

PC-000226 -

Bottom of Latch %
w/Catch S.S. Draw
PC-000205M - Lock

(2) PC-000110 - Rivet

(2) PC-000111 - Washer BRA1-0004 - Sink Top/Tower

(2) PC-000107 - Rivet
PC-100147 - 19" Cable Tether
(2) PC-000102 - Rivet

PC-000205M - Lock (4) PC-000106 - Washer

BRA1-0009

Sanitizer Mount Plate (Optional)
(4) PC-000105 - Rivet

(4) PC-000106 - Washer

PC-000558 - 2-1/2" Locking Cap
(2) PC-000102 - Rivet

(2) PC-000106 - Washer

PC-100146 - 12" Cable Tether

(2) PC-000581G - Sink Tap
(4) PC-000104 - Rivet
(4) PC-000106 - Washer

CKO01-0164 - Sanitizer (Optional)
(4) PC-000105 - Rivet

(4) PC-000106 - Washer

**NOT SHOWN

FD1-1000 - Foam Dispenser (Optional)
(4) PC-000105 - Rivet

**NOT SHOWN
(2) PC-000339 - Elbow (4) PC-000106 - Washer
(Tap to Tubing) %

(2) PC-000308 - Sink Strainer

(2) PC-000782- Decal PC-000226 - Top of Latch w/Catch, S.S. Draw
Not For Drinking (2) PC-000373 (Part of Assembly)

(2) PC-000790 - Decal 3/4" Plastic Flange Nut (2) PC-000110 - Rivet

Foot Pump (2) PC-000111 - Washer

PC-000799 - Decal Bravo Patent Pending



CH100-078 - Hose
1" Dia. x 78" Long

\.
\

BRA1-0001 \,

OuterTank ——————

PC-000417 /
3/4" UniSeal i

PC-000554 - 1" Plastic Plug
PC-000345 - 1"O-Ring

**NOT SHOWN

PC-000783 - Decal Transport

——

PC-000226 - Bottom of
Latch w/Catch S.S. Draw
(Part of Assembly)

(2) PC-000110 - Rivet

(2) PC-000111 - Washer

PC-000205M - Lock

(2) CT38-080
3/8"x 80" Tube

| BRA1-0008
: Siphon Gasket

(2) PC-100316 Elbow
1"Barb x 1”Barb

BRA1-0003 - Block
Receptacle Fill

PC-000630 - Fem Elect Sckt.
(3) PC-000105 - Rivet

(2) PC-000352 (Used with Optional Heater)
#12 Hose Clamp



BRA1-0002

Inner Tank (2) PC-000633 (Optional)

Float Switch

PC-000554 - 1" Plastic Plug
PC-000345 - 1" O-Ring

HEO01-1000
(2) PC-000600 (2) CT38-003 (2) PC-000415 Sink Heater (Optional)
Baby Foot Pump 3/8"x 3"Tube 1/4" UniSeal
BRA1-0020 - Base Plate SG1-0041 - Tie Down Ring
(4) PC-000142 - Bolt 1/4"-20 x 3/4" Hex Head PC-000160 - Bolt 5/16"-18 x 3/4” Hex Head
(4) PC-000168 - Washer 5/16"x 7/8" PC-000168 - Washer 5/16” x 7/8"




